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Math 2423, Test 11

November 11, 2005

Show all your work to receive full credit. You can use a 3 x 5 index card with favorite
formulas. The use of books, lecture notes and calculators is not allowed. Good luck!

I. (12 pts) Find the formula for the inverse g = f~" of the function f(z) = gzjré State
the domain and the range of g.
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IT. (20 pts) Find Z—i’

a) Y= etan:z:;
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I11. (20 pts)

a) Find the exact value of 3102,
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b) Solve the equation for

In2z+1)=2-Inz
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IV. (20 pts) Find the limit

a) hmz_,(x, (lnx:z;)z
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V. (28 pts) Integrate
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